Multi	plying	bv	11 (	(A)
Multi	pryms	Uy	T T /	( <b>4 x</b> )

Name:	Date	:	Score:				
	Calculate each product.						
$5 \times 11 =$	1 × 11 =	$12 \times 11 = \square$	1 × 11 =				
$4 \times 11 =$	9 × 11 =	$3 \times 11 = $	8 × 11 =				
$2 \times 11 =$	1 × 11 =	$8 \times 11 = $	9 × 11 =				
$0 \times 11 =$	7 × 11 =	$7 \times 11 = $	0 × 11 =				
$8 \times 11 =$	5 × 11 =	$5 \times 11 = $	5 × 11 =				
$7 \times 11 =$	4 × 11 =	$9 \times 11 =$	9 × 11 =				
$9 \times 11 =$	11 × 11 =	$3 \times 11 =$	11 × 11 =				
$6 \times 11 =$	2 × 11 =	$11 \times 11 =$	4 × 11 =				
$3 \times 11 =$	12 × 11 =	$0 \times 11 =$	2 × 11 =				
$11 \times 11 =$	10 × 11 =	$6 \times 11 =$	3 × 11 =				
$12 \times 11 =$	$0 \times 11 =$	$1 \times 11 =$	8 × 11 =				
$1 \times 11 =$	8 × 11 =	$12 \times 11 = \square$	10 × 11 =				
$10 \times 11 =$	6 × 11 =	$10 \times 11 = \square$	$7 \times 11 = \square$				
$10 \times 11 =$	3 × 11 =	$4 \times 11 =$	6 × 11 =				
$2 \times 11 =$	11 × 11 =	$2 \times 11 =$	12 × 11 =				
$4 \times 11 =$	6 × 11 =	$11 \times 11 = \square$	$1 \times 11 =$				
$3 \times 11 =$	1 × 11 =	$0 \times 11 =$	9 × 11 =				
$0 \times 11 =$	8 × 11 =	$12 \times 11 = \square$	5 × 11 =				
$8 \times 11 =$	9 × 11 =	$6 \times 11 =$	4 × 11 =				
$12 \times 11 =$	2 × 11 =	$5 \times 11 =$	$0 \times 11 =$				
$6 \times 11 =$	5 × 11 =	$2 \times 11 =$	$12 \times 11 = \square$				
$7 \times 11 =$	4 × 11 =	$10 \times 11 = \square$	2 × 11 =				
$9 \times 11 =$	7 × 11 =	$4 \times 11 =$	3 × 11 =				
$5 \times 11 =$	10 × 11 =	$7 \times 11 =$	10 × 11 =				
$11 \times 11 =$	$0 \times 11 = \square$	$3 \times 11 =$	8 × 11 =				

## Multiplying by 11 (A) Answers

Name:	Date:	Score:
	Calculate each product.	

Mul	tip	lying	bv	11	(B)
111 (1)	up	2112	Uy		$(\mathbf{D})$

Name:	Date	2:	Score:
	Calculat	e each product.	
$12 \times 11 = [$	6 × 11 =	$9 \times 11 =$	$3 \times 11 =$
$5 \times 11 = $	1 × 11 =	$0 \times 11 =$	$8 \times 11 = \square$
$4 \times 11 = $	4 × 11 =	$3 \times 11 =$	$2 \times 11 =$
$0 \times 11 = $	11 × 11 =	$12 \times 11 = \square$	$12 \times 11 = \square$
$1 \times 11 = [$	8 × 11 =	$5 \times 11 =$	$0 \times 11 =$
$11 \times 11 = [$	0 × 11 =	6 × 11 =	9 × 11 =
$7 \times 11 = [$	12 × 11 =	$8 \times 11 =$	$2 \times 11 =$
$8 \times 11 = $	6 × 11 =	$10 \times 11 = \square$	$5 \times 11 =$
$10 \times 11 = [$	5 × 11 =	$4 \times 11 =$	11 × 11 =
$3 \times 11 = $	3 × 11 =	$9 \times 11 =$	$8 \times 11 =$
$6 \times 11 = $	10 × 11 =	$0 \times 11 =$	$1 \times 11 =$
$2 \times 11 = $	$7 \times 11 =$	$11 \times 11 = \square$	$7 \times 11 =$
$9 \times 11 = $	9 × 11 =	$7 \times 11 =$	6 × 11 =
$9 \times 11 = $	$2 \times 11 =$	$1 \times 11 =$	$10 \times 11 = \square$
$2 \times 11 = $	1 × 11 =	$2 \times 11 =$	$3 \times 11 =$
$4 \times 11 = $	11 × 11 =	$11 \times 11 = \square$	$4 \times 11 =$
$10 \times 11 = [$	$7 \times 11 =$	$9 \times 11 =$	$10 \times 11 = \square$
$11 \times 11 = [$	10 × 11 =	$0 \times 11 =$	11 × 11 =
$0 \times 11 = $	3 × 11 =	$1 \times 11 =$	$9 \times 11 = \square$
$3 \times 11 = $	6 × 11 =	$5 \times 11 =$	$1 \times 11 =$
$8 \times 11 = $	4 × 11 =	$4 \times 11 =$	$0 \times 11 =$
$5 \times 11 = $	5 × 11 =	$10 \times 11 = \square$	$6 \times 11 =$
$7 \times 11 = $	12 × 11 =	$6 \times 11 =$	$5 \times 11 =$
$12 \times 11 = [$	2 × 11 =	$12 \times 11 = \square$	$2 \times 11 = \square$
$1 \times 11 = [$	8 × 11 =	$7 \times 11 =$	$8 \times 11 =$

# Multiplying by 11 (B) Answers

Name:			Date:			Score:	
	Calculate each product.						
$12 \times 11 =$	132	6 × 11 =	66	$9 \times 11 =$	99	$3 \times 11 =$	33
$5 \times 11 =$	55	$1 \times 11 =$	11	$0 \times 11 =$	0	$8 \times 11 =$	88
$4 \times 11 =$	44	$4 \times 11 =$	44	$3 \times 11 =$	33	$2 \times 11 =$	22
$0 \times 11 =$	0	$11 \times 11 =$	121	$12 \times 11 =$	132	$12 \times 11 =$	132
$1 \times 11 =$	11	$8 \times 11 =$	88	$5 \times 11 =$	55	$0 \times 11 =$	0
$11 \times 11 =$	121	$0 \times 11 =$	0	$6 \times 11 =$	66	$9 \times 11 =$	99
$7 \times 11 =$	77	$12 \times 11 =$	132	$8 \times 11 =$	88	$2 \times 11 =$	22
$8 \times 11 =$	88	$6 \times 11 =$	66	$10 \times 11 =$	110	$5 \times 11 =$	55
$10 \times 11 =$	110	$5 \times 11 =$	55	$4 \times 11 =$	44	$11 \times 11 =$	121
$3 \times 11 =$	33	$3 \times 11 =$	33	$9 \times 11 =$	99	$8 \times 11 =$	88
$6 \times 11 =$	66	$10 \times 11 =$	110	$0 \times 11 =$	0	$1 \times 11 =$	11
$2 \times 11 =$	22	$7 \times 11 =$	77	$11 \times 11 =$	121	$7 \times 11 =$	77
$9 \times 11 =$	99	$9 \times 11 =$	99	$7 \times 11 =$	77	$6 \times 11 =$	66
$9 \times 11 =$	99	$2 \times 11 =$	22	$1 \times 11 =$	11	$10 \times 11 =$	110
$2 \times 11 =$	22	$1 \times 11 =$	11	$2 \times 11 =$	22	$3 \times 11 =$	33
$4 \times 11 =$	44	$11 \times 11 =$	121	$11 \times 11 =$	121	$4 \times 11 =$	44
$10 \times 11 =$	110	$7 \times 11 =$	77	$9 \times 11 =$	99	$10 \times 11 =$	110
$11 \times 11 =$	121	$10 \times 11 =$	110	$0 \times 11 =$	0	$11 \times 11 =$	121
$0 \times 11 =$	0	$3 \times 11 =$	33	$1 \times 11 =$	11	$9 \times 11 =$	99
$3 \times 11 =$	33	$6 \times 11 =$	66	$5 \times 11 =$	55	$1 \times 11 =$	11
$8 \times 11 =$	88	$4 \times 11 =$	44	$4 \times 11 =$	44	$0 \times 11 =$	0
$5 \times 11 =$	55	$5 \times 11 =$	55	$10 \times 11 =$	110	$6 \times 11 =$	66

 $6 \times 11 =$ 

 $12 \times 11 =$ 

 $7 \times 11 =$ 

66

132

77

 $5 \times 11 =$ 

 $2 \times 11 =$ 

 $8 \times 11 =$ 

55

22

88

132

22

88

 $7 \times 11 =$ 

 $12 \times 11 =$ 

 $1 \times 11 =$ 

77

132

11

 $12 \times 11 =$ 

 $2 \times 11 =$ 

 $8 \times 11 =$ 

<b>3</b> - 1	. • 1		1		/~\
$\Lambda/1111$	tin	lying	h	11	( ( ' )
IVI UI	เนย	צווועו	$\mathbf{U}\mathbf{v}$	$\mathbf{T}\mathbf{T}$	$\cup$
			/		\  -  /

Name:	Dat	te:	Score:				
	Calculate each product.						
$2 \times 11 =$	$5 \times 11 =$	$6 \times 11 =$	4 × 11 =				
$5 \times 11 =$	6 × 11 =	$0 \times 11 =$	$2 \times 11 = \square$				
$12 \times 11 = \square$	$0 \times 11 =$	$12 \times 11 = \square$	11 × 11 =				
$3 \times 11 =$	$1 \times 11 =$	$2 \times 11 =$	5 × 11 =				
9 × 11 =	$2 \times 11 =$	$3 \times 11 =$	$2 \times 11 =$				
$8 \times 11 =$	$12 \times 11 = \square$	$4 \times 11 =$	12 × 11 =				
$0 \times 11 =$	9 × 11 =	$11 \times 11 =$	$10 \times 11 = \square$				
$4 \times 11 =$	$11 \times 11 = \square$	9 × 11 =	11 × 11 =				
11 × 11 =	$4 \times 11 =$	$8 \times 11 =$	8 × 11 =				
6 × 11 =	8 × 11 =	6 × 11 =	9 × 11 =				
$7 \times 11 =$	$3 \times 11 =$	$1 \times 11 =$	3 × 11 =				
$10 \times 11 = \square$	$5 \times 11 =$	$5 \times 11 =$	6 × 11 =				
1 × 11 =	$10 \times 11 =$	$0 \times 11 =$	$7 \times 11 =$				
11 × 11 =	$7 \times 11 =$	$7 \times 11 =$	$0 \times 11 =$				
$3 \times 11 =$	$7 \times 11 =$	$10 \times 11 =$	1 × 11 =				
$6 \times 11 =$	$8 \times 11 =$	$8 \times 11 =$	4 × 11 =				
$10 \times 11 = \square$	9 × 11 =	$10 \times 11 =$	11 × 11 =				
9 × 11 =	$3 \times 11 =$	$0 \times 11 =$	5 × 11 =				
$0 \times 11 =$	$5 \times 11 =$	$1 \times 11 =$	$0 \times 11 =$				
$12 \times 11 = \square$	$4 \times 11 =$	$3 \times 11 =$	$2 \times 11 =$				
$1 \times 11 =$	$1 \times 11 =$	$12 \times 11 =$	$4 \times 11 =$				
$2 \times 11 =$	$12 \times 11 = \square$	$7 \times 11 =$	9 × 11 =				
$7 \times 11 =$	10 × 11 =	9 × 11 =	1 × 11 =				
$8 \times 11 =$	$2 \times 11 =$	$5 \times 11 =$	$10 \times 11 = \square$				
$4 \times 11 =$	11 × 11 =	$6 \times 11 =$	3 × 11 =				

# Multiplying by 11 (C) Answers

Name:			Date:			Score:	
		 Ca	lculate	each product.			
$2 \times 11 =$	22	$5 \times 11 =$	55	$6 \times 11 =$	66	$4 \times 11 =$	44
$5 \times 11 =$	55	$6 \times 11 =$	66	$0 \times 11 =$	0	$2 \times 11 =$	22
$12 \times 11 =$	132	$0 \times 11 =$	0	$12 \times 11 =$	132	11 × 11 =	121
$3 \times 11 =$	33	$1 \times 11 =$	11	$2 \times 11 =$	22	$5 \times 11 =$	55
$9 \times 11 =$	99	$2 \times 11 =$	22	$3 \times 11 =$	33	$2 \times 11 =$	22
$8 \times 11 =$	88	$12 \times 11 =$	132	$4 \times 11 =$	44	$12 \times 11 =$	132
$0 \times 11 =$	0	$9 \times 11 =$	99	$11 \times 11 =$	121	$10 \times 11 =$	110
$4 \times 11 =$	44	$11 \times 11 =$	121	$9 \times 11 =$	99	$11 \times 11 =$	121
11 × 11 =	121	$4 \times 11 =$	44	$8 \times 11 =$	88	$8 \times 11 =$	88
$6 \times 11 =$	66	$8 \times 11 =$	88	$6 \times 11 =$	66	$9 \times 11 =$	99
$7 \times 11 =$	77	$3 \times 11 =$	33	$1 \times 11 =$	11	$3 \times 11 =$	33
$10 \times 11 =$	110	$5 \times 11 =$	55	$5 \times 11 =$	55	$6 \times 11 =$	66
$1 \times 11 =$	11	$10 \times 11 =$	110	$0 \times 11 =$	0	$7 \times 11 =$	77
11 × 11 =	121	$7 \times 11 =$	77	$7 \times 11 =$	77	$0 \times 11 =$	0
$3 \times 11 =$	33	$7 \times 11 =$	77	$10 \times 11 =$	110	$1 \times 11 =$	11
$6 \times 11 =$	66	$8 \times 11 =$	88	$8 \times 11 =$	88	$4 \times 11 =$	44
$10 \times 11 =$	110	$9 \times 11 =$	99	$10 \times 11 =$	110	11 × 11 =	121
9 × 11 =	99	$3 \times 11 =$	33	$0 \times 11 =$	0	$5 \times 11 =$	55
$0 \times 11 =$	0	$5 \times 11 =$	55	$1 \times 11 =$	11	$0 \times 11 =$	0
12 × 11 =	132	$4 \times 11 =$	44	$3 \times 11 =$	33	$2 \times 11 =$	22
$1 \times 11 =$	11	$1 \times 11 =$	11	$12 \times 11 =$	132	$4 \times 11 =$	44
$2 \times 11 =$	22	$12 \times 11 =$	132	$7 \times 11 =$	77	$9 \times 11 =$	99
$7 \times 11 =$	77	$10 \times 11 =$	110	9 × 11 =	99	1 × 11 =	11
$8 \times 11 =$	88	$2 \times 11 =$	22	$5 \times 11 =$	55	$10 \times 11 =$	110
$4 \times 11 =$	44	11 × 11 =	121	6 × 11 =	66	3 × 11 =	33

N / 14:	1	1	11	$\langle \mathbf{D} \rangle$
Multi	plying	Dy	11 (	ע)

Name:	Dat	te:	Score:				
	Calculate each product.						
1 × 11 =	12 × 11 =	$2 \times 11 =$	11 × 11 =				
$7 \times 11 =$	9 × 11 =	$7 \times 11 =$	$12 \times 11 = \square$				
$6 \times 11 =$	$2 \times 11 =$	$0 \times 11 =$	$2 \times 11 =$				
$8 \times 11 =$	11 × 11 =	8 × 11 =	$4 \times 11 =$				
$4 \times 11 =$	$12 \times 11 =$	$12 \times 11 =$	$7 \times 11 =$				
$0 \times 11 =$	$5 \times 11 =$	$10 \times 11 =$	9 × 11 =				
$12 \times 11 = \square$	$10 \times 11 =$	6 × 11 =	11 × 11 =				
$10 \times 11 = \square$	$7 \times 11 =$	$7 \times 11 =$	$12 \times 11 = \square$				
$9 \times 11 =$	$4 \times 11 =$	$4 \times 11 =$	$3 \times 11 =$				
$11 \times 11 = \square$	6 × 11 =	$2 \times 11 =$	$2 \times 11 =$				
$3 \times 11 =$	$0 \times 11 =$	9 × 11 =	$0 \times 11 =$				
$2 \times 11 =$	$1 \times 11 =$	1 × 11 =	$8 \times 11 =$				
$5 \times 11 =$	8 × 11 =	$5 \times 11 =$	$5 \times 11 = \square$				
$4 \times 11 =$	$3 \times 11 =$	11 × 11 =	$1 \times 11 =$				
$6 \times 11 =$	8 × 11 =	$3 \times 11 =$	$10 \times 11 = \square$				
$10 \times 11 = \square$	6 × 11 =	$4 \times 11 =$	$6 \times 11 =$				
$9 \times 11 =$	$1 \times 11 =$	$3 \times 11 =$	$4 \times 11 =$				
$3 \times 11 =$	9 × 11 =	9 × 11 =	$2 \times 11 = \square$				
$8 \times 11 =$	$5 \times 11 =$	6 × 11 =	$1 \times 11 =$				
$0 \times 11 =$	$0 \times 11 =$	$5 \times 11 =$	$0 \times 11 =$				
$5 \times 11 =$	$10 \times 11 =$	$0 \times 11 =$	$10 \times 11 = \square$				
$1 \times 11 =$	$12 \times 11 =$	$7 \times 11 =$	$3 \times 11 =$				
$7 \times 11 =$	4 × 11 =	1 × 11 =	11 × 11 =				
$2 \times 11 =$	3 × 11 =	$10 \times 11 =$	9 × 11 =				
11 × 11 =	11 × 11 =	8 × 11 =	6 × 11 =				

## Multiplying by 11 (D) Answers

Name:	Date:	Score:

#### Calculate each product.

$$1 \times 11 = 11$$
  $12 \times 11 = 132$   $2 \times 11 = 22$   $11 \times 11 = 121$ 

$$7 \times 11 = 77$$
  $9 \times 11 = 99$   $7 \times 11 = 77$   $12 \times 11 = 132$ 

$$6 \times 11 = 66$$
  $2 \times 11 = 22$   $0 \times 11 = 0$   $2 \times 11 = 22$ 

$$8 \times 11 = 88 \quad 11 \times 11 = 121 \quad 8 \times 11 = 88 \quad 4 \times 11 = 44$$

$$4 \times 11 = | 44 | 12 \times 11 = | 132 | 12 \times 11 = | 132 | 7 \times 11 = | 77$$

$$0 \times 11 = 0$$
  $5 \times 11 = 55$   $10 \times 11 = 110$   $9 \times 11 = 99$ 

$$12 \times 11 = \begin{vmatrix} 132 \\ 10 \times 11 = \end{vmatrix} 110 \begin{vmatrix} 6 \times 11 \\ 66 \end{vmatrix} 11 \times 11 = \begin{vmatrix} 121 \\ 121 \end{vmatrix}$$

$$10 \times 11 = 110$$
  $7 \times 11 = 77$   $7 \times 11 = 77$   $12 \times 11 = 132$ 

$$9 \times 11 = | 99 | 4 \times 11 = | 44 | 4 \times 11 = | 44 | 3 \times 11 = | 33$$

$$11 \times 11 = |121| 6 \times 11 = |66| 2 \times 11 = |22| 2 \times 11 = |22|$$

$$3 \times 11 = 33$$
  $0 \times 11 = 0$   $9 \times 11 = 99$   $0 \times 11 = 0$ 

$$2 \times 11 = | 22 | 1 \times 11 = | 11 | 1 \times 11 = | 11 | 8 \times 11 = | 88$$

$$5 \times 11 = 55$$
  $8 \times 11 = 88$   $5 \times 11 = 55$   $5 \times 11 = 55$ 

$$4 \times 11 = 44$$
  $3 \times 11 = 33$   $11 \times 11 = 121$   $1 \times 11 = 11$ 

$$6 \times 11 = | 66 | 8 \times 11 = | 88 | 3 \times 11 = | 33 | 10 \times 11 = | 110$$

$$10 \times 11 = 110$$
  $6 \times 11 = 66$   $4 \times 11 = 44$   $6 \times 11 = 66$ 

$$9 \times 11 = 99$$
  $1 \times 11 = 11$   $3 \times 11 = 33$   $4 \times 11 = 44$ 

$$3 \times 11 = \boxed{33} \quad 9 \times 11 = \boxed{99} \quad 9 \times 11 = \boxed{99} \quad 2 \times 11 = \boxed{22}$$

$$8 \times 11 = 88$$
  $5 \times 11 = 55$   $6 \times 11 = 66$   $1 \times 11 = 11$ 

$$0 \times 11 = | 0 | 0 \times 11 = | 0 | 5 \times 11 = | 55 | 0 \times 11 = | 0$$

$$5 \times 11 = 55$$
  $10 \times 11 = 110$   $0 \times 11 = 0$   $10 \times 11 = 110$ 

$$1 \times 11 = \boxed{11}$$
  $12 \times 11 = \boxed{132}$   $7 \times 11 = \boxed{77}$   $3 \times 11 = \boxed{33}$ 

$$7 \times 11 = \boxed{77}$$
  $4 \times 11 = \boxed{44}$   $1 \times 11 = \boxed{11}$   $11 \times 11 = \boxed{121}$ 

$$2 \times 11 = \boxed{22}$$
  $3 \times 11 = \boxed{33}$   $10 \times 11 = \boxed{110}$   $9 \times 11 = \boxed{99}$ 

$$11 \times 11 = 121$$
  $11 \times 11 = 121$   $8 \times 11 = 88$   $6 \times 11 = 66$ 

Mul	ltin]	lying	hv	11	(E)
IVI U	ւսբ	Lymig	Uy	TT	رندر

Name:		Date:	Score:
	Cal	culate each product.	
$12 \times 11 = [$	$12 \times 11 = [$	12 × 11 =	6 × 11 =
$0 \times 11 = $	$4 \times 11 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	1 × 11 =	3 × 11 =
$8 \times 11 = $	3 × 11 =	5 × 11 =	$0 \times 11 =$
$6 \times 11 = $	11 × 11 =	$7 \times 11 =$	$0 \times 11 =$
$11 \times 11 = $	8 × 11 =	$12 \times 11 = \square$	9 × 11 =
$3 \times 11 = $	1 × 11 =	8 × 11 =	4 × 11 =
$1 \times 11 = $	$0 \times 11 =$	$10 \times 11 = \square$	1 × 11 =
$5 \times 11 = $	$5 \times 11 = [$	9 × 11 =	11 × 11 =
$7 \times 11 = $	$2 \times 11 = [$	6 × 11 =	$2 \times 11 =$
$2 \times 11 = $	$12 \times 11 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$4 \times 11 =$	12 × 11 =
$10 \times 11 = \left[\right.$	9 × 11 =	1 × 11 =	5 × 11 =
$9 \times 11 = $	6 × 11 =	11 × 11 =	3 × 11 =
$4 \times 11 = $	$10 \times 11 = [$	$2 \times 11 =$	$10 \times 11 = \square$
$5 \times 11 = $	$7 \times 11 = \left[\right]$	3 × 11 =	$7 \times 11 =$
$0 \times 11 =$	8 × 11 =	$0 \times 11 =$	6 × 11 =
$3 \times 11 =$	$4 \times 11 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$10 \times 11 =$	8 × 11 =
$4 \times 11 = $	$0 \times 11 = $	1 × 11 =	9 × 11 =
$8 \times 11 = $	11 × 11 =	$12 \times 11 = \square$	12 × 11 =
$6 \times 11 =$	$3 \times 11 = $	$5 \times 11 =$	$4 \times 11 =$
$7 \times 11 =$	$2 \times 11 = [$	9 × 11 =	5 × 11 =
$2 \times 11 =$	$5 \times 11 = $	11 × 11 =	$2 \times 11 =$
$10 \times 11 = \left[\right.$	$10 \times 11 = [$	$7 \times 11 =$	1 × 11 =
$9 \times 11 = $	9 × 11 =	8 × 11 =	$7 \times 11 =$
$11 \times 11 = $	$6 \times 11 =$	4 × 11 =	6 × 11 =
$1 \times 11 = $	$7 \times 11 = [$	$2 \times 11 = \square$	$0 \times 11 =$

## Multiplying by 11 (E) Answers

Name:	Date:	Score:
	Calculate each product.	

Mul	tipl	lying	bv	11	(F)
IVIUI	upi	yms	Uy	11	(1)

Name:	Da	te:	Score:
	Calcula	ate each product.	_
$2 \times 11 =$	$12 \times 11 = \square$	5 × 11 =	9 × 11 =
11 × 11 =	$6 \times 11 =$	$1 \times 11 =$	11 × 11 =
$1 \times 11 =$	$12 \times 11 = \square$	$7 \times 11 =$	$3 \times 11 =$
$7 \times 11 =$	11 × 11 =	$9 \times 11 =$	1 × 11 =
$4 \times 11 =$	$3 \times 11 =$	$4 \times 11 =$	$7 \times 11 = \square$
6 × 11 =	$0 \times 11 =$	$0 \times 11 =$	$10 \times 11 = \square$
$0 \times 11 =$	$4 \times 11 =$	$2 \times 11 =$	$5 \times 11 = \square$
$10 \times 11 = \square$	$7 \times 11 =$	8 × 11 =	$12 \times 11 = \square$
$3 \times 11 =$	8 × 11 =	$3 \times 11 =$	11 × 11 =
$5 \times 11 =$	$10 \times 11 = \boxed{}$	11 × 11 =	$2 \times 11 = \square$
$9 \times 11 =$	$2 \times 11 =$	$12 \times 11 = \square$	$0 \times 11 =$
$12 \times 11 = \square$	$9 \times 11 =$	$10 \times 11 = \square$	9 × 11 =
$8 \times 11 =$	$1 \times 11 =$	$1 \times 11 =$	$4 \times 11 =$
$9 \times 11 =$	$5 \times 11 =$	6 × 11 =	8 × 11 =
$0 \times 11 =$	$2 \times 11 =$	$5 \times 11 =$	$3 \times 11 =$
$10 \times 11 = \square$	$10 \times 11 = \square$	$2 \times 11 =$	6 × 11 =
$6 \times 11 =$	$12 \times 11 = \square$	8 × 11 =	$10 \times 11 = \square$
$11 \times 11 = \square$	$4 \times 11 =$	6 × 11 =	11 × 11 =
$1 \times 11 =$	$3 \times 11 =$	$1 \times 11 =$	$4 \times 11 = \square$
$8 \times 11 =$	$11 \times 11 = \square$	$5 \times 11 =$	$5 \times 11 = \square$
$5 \times 11 =$	$9 \times 11 = \square$	$10 \times 11 =$	$7 \times 11 =$
$3 \times 11 =$	$6 \times 11 =$	$12 \times 11 =$	$3 \times 11 =$
$4 \times 11 =$	$0 \times 11 =$	$7 \times 11 =$	$2 \times 11 = \square$
$7 \times 11 =$	$8 \times 11 =$	$0 \times 11 =$	8 × 11 =
$2 \times 11 =$	7 × 11 =	4 × 11 =	12 × 11 =

## Multiplying by 11 (F) Answers

Wultiplying by 11 (1) Allsweis						
Name:		Date:			Score:	
Calculate each product.						
$2 \times 11 =$	22	$12 \times 11 = \boxed{132}$	$5 \times 11 = $	55	$9 \times 11 = \boxed{99}$	
$11 \times 11 =$	121	$6 \times 11 = \boxed{66}$	$1 \times 11 =$	11	$11 \times 11 = \boxed{121}$	
$1 \times 11 =$	11	$12 \times 11 = \boxed{132}$	$7 \times 11 =$	77	$3 \times 11 = \boxed{33}$	
$7 \times 11 =$	77	$11 \times 11 = \boxed{121}$	$9 \times 11 =$	99	$1 \times 11 = \boxed{11}$	
$4 \times 11 =$	44	$3 \times 11 = \boxed{33}$	$4 \times 11 =$	44	$7 \times 11 = \boxed{77}$	
$6 \times 11 =$	66	$0 \times 11 = \boxed{0}$	$0 \times 11 =$	0	$10 \times 11 = \boxed{110}$	
$0 \times 11 =$	0	$4 \times 11 = \boxed{44}$	$2 \times 11 =$	22	$5 \times 11 = \boxed{55}$	

$$3 \times 11 = \boxed{33}$$
  $8 \times 11 = \boxed{88}$   $3 \times 11 = \boxed{33}$   $11 \times 11 = \boxed{121}$ 

 $8 \times 11 =$ 

88

 $12 \times 11 =$ 

132

77

 $7 \times 11 =$ 

 $10 \times 11 =$ 

110

$$5 \times 11 = \begin{bmatrix} 55 \end{bmatrix}$$
  $10 \times 11 = \begin{bmatrix} 110 \end{bmatrix}$   $11 \times 11 = \begin{bmatrix} 121 \end{bmatrix}$   $2 \times 11 = \begin{bmatrix} 22 \end{bmatrix}$ 

$$9 \times 11 = \boxed{99}$$
  $2 \times 11 = \boxed{22}$   $12 \times 11 = \boxed{132}$   $0 \times 11 = \boxed{0}$ 

$$12 \times 11 = \boxed{132}$$
  $9 \times 11 = \boxed{99}$   $10 \times 11 = \boxed{110}$   $9 \times 11 = \boxed{99}$ 

$$8 \times 11 = \begin{bmatrix} 88 \\ 1 \times 11 = \begin{bmatrix} 11 \\ 1 \end{bmatrix}$$
  $1 \times 11 = \begin{bmatrix} 11 \\ 4 \times 11 = \begin{bmatrix} 44 \\ 11 \end{bmatrix}$ 

$$9 \times 11 = \boxed{99}$$
  $5 \times 11 = \boxed{55}$   $6 \times 11 = \boxed{66}$   $8 \times 11 = \boxed{88}$ 

$$0 \times 11 = \begin{bmatrix} 0 \\ 2 \times 11 = \begin{bmatrix} 22 \\ 5 \times 11 = \begin{bmatrix} 55 \\ 3 \times 11 = \end{bmatrix}$$
 33

$$10 \times 11 = \begin{bmatrix} 110 \end{bmatrix}$$
  $10 \times 11 = \begin{bmatrix} 110 \end{bmatrix}$   $2 \times 11 = \begin{bmatrix} 22 \end{bmatrix}$   $6 \times 11 = \begin{bmatrix} 66 \end{bmatrix}$ 

$$11 \times 11 =$$
  $121$   $4 \times 11 =$   $44$   $6 \times 11 =$   $66$   $11 \times 11 =$   $121$ 

$$1 \times 11 = \boxed{11}$$
  $3 \times 11 = \boxed{33}$   $1 \times 11 = \boxed{11}$   $4 \times 11 = \boxed{44}$ 

$$8 \times 11 = 88 \quad 11 \times 11 = 121 \quad 5 \times 11 = 55 \quad 5 \times 11 = 55$$

$$5 \times 11 = 55$$
  $9 \times 11 = 99$   $10 \times 11 = 110$   $7 \times 11 = 77$ 

$$3 \times 11 = \boxed{33}$$
  $6 \times 11 = \boxed{66}$   $12 \times 11 = \boxed{132}$   $3 \times 11 = \boxed{33}$ 

$$4 \times 11 = \boxed{44} \quad 0 \times 11 = \boxed{0} \quad 7 \times 11 = \boxed{77} \quad 2 \times 11 = \boxed{22}$$

$$7 \times 11 = \boxed{77}$$
  $8 \times 11 = \boxed{88}$   $0 \times 11 = \boxed{0}$   $8 \times 11 = \boxed{88}$ 

$$2 \times 11 = 22$$
  $7 \times 11 = 77$   $4 \times 11 = 44$   $12 \times 11 = 132$ 

N/1114;	nlina	hr	11	(C)
wuiu	plying	υy	TT	$\langle \mathbf{U} \rangle$

Dat	e:	Score:
Calcula	te each product.	
$5 \times 11 =$	$10 \times 11 = \square$	1 × 11 =
$1 \times 11 =$	$1 \times 11 =$	$10 \times 11 = \square$
$3 \times 11 =$	$2 \times 11 =$	8 × 11 =
$7 \times 11 =$	$10 \times 11 = \square$	$0 \times 11 =$
$5 \times 11 =$	$5 \times 11 =$	$4 \times 11 =$
9 × 11 =	1 × 11 =	$5 \times 11 =$
$11 \times 11 = \square$	$4 \times 11 =$	6 × 11 =
$10 \times 11 = \square$	6 × 11 =	3 × 11 =
$4 \times 11 =$	$3 \times 11 =$	$12 \times 11 = \square$
$8 \times 11 =$	$12 \times 11 = \square$	9 × 11 =
$0 \times 11 =$	11 × 11 =	8 × 11 =
$2 \times 11 =$	8 × 11 =	$7 \times 11 =$
6 × 11 =	$0 \times 11 =$	$2 \times 11 =$
$12 \times 11 = \square$	9 × 11 =	1 × 11 =
$8 \times 11 =$	$7 \times 11 =$	11 × 11 =
$12 \times 11 = \square$	$5 \times 11 =$	$10 \times 11 = \square$
$3 \times 11 =$	6 × 11 =	8 × 11 =
6 × 11 =	11 × 11 =	$2 \times 11 =$
$7 \times 11 =$	$0 \times 11 =$	11 × 11 =
9 × 11 =	$3 \times 11 =$	$3 \times 11 =$
$5 \times 11 =$	9 × 11 =	6 × 11 =
$0 \times 11 =$	$12 \times 11 = \square$	$0 \times 11 = \square$
$2 \times 11 =$	$4 \times 11 =$	$12 \times 11 = \square$
$4 \times 11 =$	$2 \times 11 =$	$5 \times 11 =$
11 × 11 =	$7 \times 11 =$	$4 \times 11 = \square$
	5 × 11 =       1 × 11 =         1 × 11 =       3 × 11 =         7 × 11 =       5 × 11 =         9 × 11 =       11 × 11 =         10 × 11 =       4 × 11 =         8 × 11 =       0 × 11 =         2 × 11 =       6 × 11 =         12 × 11 =       3 × 11 =         6 × 11 =       7 × 11 =         9 × 11 =       5 × 11 =         0 × 11 =       2 × 11 =         4 × 11 =       4 × 11 =	$1 \times 11 =                               $

## Multiplying by 11 (G) Answers

Name: Date: Score:
Name: Date: Score:

#### Calculate each product.

 $2 \times 11 =$ 

 $10 \times 11 =$ 

110

$$2 \times 11 = 22 \quad 11 \times 11 = 121 \quad 7 \times 11 = 77 \quad 4 \times 11 = 44$$

 $4 \times 11 =$ 

44

 $12 \times 11 =$ 

 $5 \times 11 =$ 

132

55

22

Multi	plvin	g by	11 (	(H)
MILL	PIYII	$\Sigma$		. <del></del> . <i>.</i>

Name:	Date	e:	Score:
	Calculat	te each product.	<del></del> -
$10 \times 11 = $	6 × 11 =	$2 \times 11 =$	$5 \times 11 =$
$6 \times 11 =$	0 × 11 =	$9 \times 11 =$	4 × 11 =
$8 \times 11 =$	8 × 11 =	$10 \times 11 = \square$	$10 \times 11 = \square$
$4 \times 11 =$	$2 \times 11 =$	$6 \times 11 =$	$0 \times 11 =$
$11 \times 11 =$	3 × 11 =	$7 \times 11 =$	$3 \times 11 =$
$3 \times 11 =$	12 × 11 =	$5 \times 11 =$	$4 \times 11 =$
$9 \times 11 =$	6 × 11 =	$3 \times 11 =$	6 × 11 =
$2 \times 11 =$	4 × 11 =	$4 \times 11 =$	$7 \times 11 =$
$5 \times 11 =$	11 × 11 =	9 × 11 =	$12 \times 11 = \square$
$0 \times 11 =$	9 × 11 =	$2 \times 11 =$	1 × 11 =
$7 \times 11 =$	$10 \times 11 = \square$	$8 \times 11 =$	11 × 11 =
$12 \times 11 = \square$	$5 \times 11 =$	$12 \times 11 = \square$	$10 \times 11 = \square$
$1 \times 11 =$	$7 \times 11 =$	$0 \times 11 =$	$8 \times 11 =$
$8 \times 11 =$	1 × 11 =	$11 \times 11 = \square$	$2 \times 11 = \square$
$7 \times 11 =$	6 × 11 =	$1 \times 11 =$	9 × 11 =
$5 \times 11 =$	4 × 11 =	$0 \times 11 =$	$5 \times 11 =$
$3 \times 11 =$	$0 \times 11 =$	$11 \times 11 =$	$7 \times 11 = \square$
$12 \times 11 = \square$	$10 \times 11 = $	$3 \times 11 =$	$6 \times 11 =$
$9 \times 11 =$	3 × 11 =	$2 \times 11 =$	$12 \times 11 = \square$
$11 \times 11 = \square$	1 × 11 =	$12 \times 11 = \square$	$1 \times 11 =$
$0 \times 11 =$	5 × 11 =	$6 \times 11 =$	$0 \times 11 =$
$10 \times 11 = \square$	11 × 11 =	$8 \times 11 =$	8 × 11 =
$1 \times 11 =$	$7 \times 11 =$	$1 \times 11 =$	9 × 11 =
$2 \times 11 =$	8 × 11 =	$7 \times 11 =$	$3 \times 11 =$
$4 \times 11 =$	12 × 11 =	9 × 11 =	$2 \times 11 = \square$

## Multiplying by 11 (H) Answers

Name:	Date:	Score:

#### Calculate each product.

$$10 \times 11 = 110$$
  $6 \times 11 = 66$   $2 \times 11 = 22$   $5 \times 11 = 55$   $6 \times 11 = 66$   $0 \times 11 = 0$   $9 \times 11 = 99$   $4 \times 11 = 44$ 

$$8 \times 11 = \boxed{88} \quad 8 \times 11 = \boxed{88} \quad 10 \times 11 = \boxed{110} \quad 10 \times 11 = \boxed{110}$$

$$4 \times 11 = \boxed{44}$$
  $2 \times 11 = \boxed{22}$   $6 \times 11 = \boxed{66}$   $0 \times 11 = \boxed{0}$ 

$$11 \times 11 = 121$$
  $3 \times 11 = 33$   $7 \times 11 = 77$   $3 \times 11 = 33$ 

$$3 \times 11 = \boxed{33} \quad 12 \times 11 = \boxed{132} \quad 5 \times 11 = \boxed{55} \quad 4 \times 11 = \boxed{44}$$

$$9 \times 11 = \boxed{99}$$
  $6 \times 11 = \boxed{66}$   $3 \times 11 = \boxed{33}$   $6 \times 11 = \boxed{66}$ 

$$2 \times 11 =$$
  $22$   $4 \times 11 =$   $44$   $4 \times 11 =$   $44$   $7 \times 11 =$   $77$ 

$$5 \times 11 = \boxed{55}$$
  $11 \times 11 = \boxed{121}$   $9 \times 11 = \boxed{99}$   $12 \times 11 = \boxed{132}$ 

$$0 \times 11 = \boxed{0}$$
  $9 \times 11 = \boxed{99}$   $2 \times 11 = \boxed{22}$   $1 \times 11 = \boxed{11}$ 

$$7 \times 11 = \begin{bmatrix} 77 \\ 10 \times 11 = \end{bmatrix}$$
  $110 \times 11 = \begin{bmatrix} 110 \\ 8 \times 11 = \end{bmatrix}$   $11 \times 11 = \begin{bmatrix} 121 \\ 121 \end{bmatrix}$ 

$$12 \times 11 = \begin{bmatrix} 132 \\ 5 \times 11 = \begin{bmatrix} 55 \\ 12 \times 11 = \begin{bmatrix} 132 \\ 10 \times 11 = \end{bmatrix} 110$$

$$1 \times 11 = | 11 | 7 \times 11 = | 77 | 0 \times 11 = | 0 | 8 \times 11 = | 88$$

$$8 \times 11 = \boxed{88}$$
  $1 \times 11 = \boxed{11}$   $11 \times 11 = \boxed{121}$   $2 \times 11 = \boxed{22}$ 

$$7 \times 11 = \boxed{77}$$
  $6 \times 11 = \boxed{66}$   $1 \times 11 = \boxed{11}$   $9 \times 11 = \boxed{99}$ 

$$5 \times 11 = 55$$
  $4 \times 11 = 44$   $0 \times 11 = 0$   $5 \times 11 = 55$ 

$$3 \times 11 = 33$$
  $0 \times 11 = 0$   $11 \times 11 = 121$   $7 \times 11 = 77$ 

$$12 \times 11 = \boxed{132} \quad 10 \times 11 = \boxed{110} \quad 3 \times 11 = \boxed{33} \quad 6 \times 11 = \boxed{66}$$

$$9 \times 11 = 99$$
  $3 \times 11 = 33$   $2 \times 11 = 22$   $12 \times 11 = 132$ 

$$11 \times 11 = 121$$
  $1 \times 11 = 11$   $12 \times 11 = 132$   $1 \times 11 = 11$ 

$$0 \times 11 = 0$$
  $5 \times 11 = 55$   $6 \times 11 = 66$   $0 \times 11 = 0$ 

$$10 \times 11 = 110$$
  $11 \times 11 = 121$   $8 \times 11 = 88$   $8 \times 11 = 88$ 

$$1 \times 11 = \boxed{11}$$
  $7 \times 11 = \boxed{77}$   $1 \times 11 = \boxed{11}$   $9 \times 11 = \boxed{99}$ 

$$2 \times 11 = \boxed{22}$$
  $8 \times 11 = \boxed{88}$   $7 \times 11 = \boxed{77}$   $3 \times 11 = \boxed{33}$ 

$$4 \times 11 = 44 \quad 12 \times 11 = 132 \quad 9 \times 11 = 99 \quad 2 \times 11 = 22$$

1/111	ltin]	lying	hx	11	<b>(T)</b>
IVI U	ւսք	lymg	Uy	TT	$(\mathbf{I})$

Name:	Date	:	Score:
	Calculate	e each product.	
$8 \times 11 =$	$7 \times 11 = \boxed{}$	$6 \times 11 =$	4 × 11 =
$0 \times 11 =$	5 × 11 =	$5 \times 11 = \square$	$7 \times 11 = \square$
$2 \times 11 =$	8 × 11 =	$12 \times 11 = \boxed{}$	1 × 11 =
$4 \times 11 =$	$2 \times 11 = $	8 × 11 =	$0 \times 11 =$
$3 \times 11 =$	11 × 11 =	9 × 11 =	$5 \times 11 =$
$1 \times 11 =$	1 × 11 =	$3 \times 11 =$	11 × 11 =
$11 \times 11 =$	$0 \times 11 =$	11 × 11 =	$12 \times 11 = \square$
$12 \times 11 =$	$7 \times 11 =$	6 × 11 =	$10 \times 11 = \square$
$5 \times 11 =$	$10 \times 11 = $	$5 \times 11 =$	$3 \times 11 =$
$7 \times 11 =$	6 × 11 =	$4 \times 11 =$	$7 \times 11 =$
$10 \times 11 =$	9 × 11 =	$10 \times 11 = \square$	$2 \times 11 =$
$9 \times 11 =$	3 × 11 =	$7 \times 11 =$	$6 \times 11 =$
$6 \times 11 =$	12 × 11 =	$2 \times 11 =$	$4 \times 11 =$
$6 \times 11 =$	$4 \times 11 = \boxed{}$	$0 \times 11 =$	$8 \times 11 =$
$5 \times 11 =$	$7 \times 11 = \square$	$1 \times 11 =$	$1 \times 11 =$
$4 \times 11 =$	$12 \times 11 = $	$9 \times 11 =$	9 × 11 =
$8 \times 11 =$	11 × 11 =	$8 \times 11 =$	$7 \times 11 =$
$3 \times 11 =$	$2 \times 11 = \boxed{}$	$10 \times 11 = \boxed{}$	$8 \times 11 =$
$1 \times 11 =$	3 × 11 =	$2 \times 11 =$	$0 \times 11 =$
$2 \times 11 =$	9 × 11 =	$0 \times 11 =$	$1 \times 11 =$
$12 \times 11 =$	$0 \times 11 = \boxed{}$	$6 \times 11 =$	9 × 11 =
$11 \times 11 =$	$10 \times 11 = \boxed{}$	$12 \times 11 = \boxed{}$	$4 \times 11 =$
$9 \times 11 =$	8 × 11 =	$5 \times 11 =$	$6 \times 11 = \square$
$10 \times 11 =$	$4 \times 11 = \boxed{}$	$3 \times 11 =$	$12 \times 11 = \square$
$0 \times 11 =$	1 × 11 =	11 × 11 =	$5 \times 11 = \square$

## Multiplying by 11 (I) Answers

Name: Date: Score:
Name: Date: Score:

#### Calculate each product.

$$2 \times 11 = \boxed{22}$$
  $9 \times 11 = \boxed{99}$   $0 \times 11 = \boxed{0}$   $1 \times 11 = \boxed{11}$ 

$$12 \times 11 = \boxed{132} \quad 0 \times 11 = \boxed{0} \quad 6 \times 11 = \boxed{66} \quad 9 \times 11 = \boxed{99}$$

$$9 \times 11 = \boxed{99}$$
  $8 \times 11 = \boxed{88}$   $5 \times 11 = \boxed{55}$   $6 \times 11 = \boxed{66}$ 

$$10 \times 11 = \boxed{110}$$
  $4 \times 11 = \boxed{44}$   $3 \times 11 = \boxed{33}$   $12 \times 11 = \boxed{132}$ 

$$0 \times 11 = 0$$
  $1 \times 11 = 11$   $11 \times 11 = 121$   $5 \times 11 = 55$ 

1.	1 .	1		/ ->
$\Lambda I = I + i$	plying	hx	11	1 I I
munu	שווועוט	$\mathbf{v}$	$\mathbf{L}\mathbf{L}$	しょり
				<b>\</b> - /

Name:	Date	e:	Score:	
Calculate each product.				
$3 \times 11 =$	11 × 11 =	$10 \times 11 = \square$	8 × 11 =	
$11 \times 11 = $	11 × 11 =	$3 \times 11 = \square$	10 × 11 =	
$8 \times 11 =$	4 × 11 =	$0 \times 11 =$	9 × 11 =	
$6 \times 11 = $	12 × 11 =	$3 \times 11 =$	12 × 11 =	
$12 \times 11 = \boxed{}$	$7 \times 11 =$	$1 \times 11 =$	1 × 11 =	
$9 \times 11 = $	5 × 11 =	$7 \times 11 =$	6 × 11 =	
$10 \times 11 = $	3 × 11 =	$10 \times 11 = \square$	$7 \times 11 =$	
$2 \times 11 =$	2 × 11 =	$4 \times 11 =$	5 × 11 =	
$7 \times 11 =$	1 × 11 =	$11 \times 11 =$	$0 \times 11 =$	
$0 \times 11 = $	9 × 11 =	$2 \times 11 =$	9 × 11 =	
$4 \times 11 =$	0 × 11 =	$5 \times 11 =$	$2 \times 11 =$	
$5 \times 11 = $	6 × 11 =	$9 \times 11 =$	11 × 11 =	
$1 \times 11 = $	10 × 11 =	$8 \times 11 =$	$10 \times 11 = \square$	
$5 \times 11 = $	8 × 11 =	$12 \times 11 = \square$	8 × 11 =	
$2 \times 11 = $	12 × 11 =	$6 \times 11 =$	3 × 11 =	
$0 \times 11 =$	1 × 11 =	$12 \times 11 = \square$	$4 \times 11 =$	
$6 \times 11 =$	5 × 11 =	$3 \times 11 =$	1 × 11 =	
$8 \times 11 =$	$0 \times 11 =$	$5 \times 11 =$	9 × 11 =	
$3 \times 11 =$	9 × 11 =	$4 \times 11 =$	$0 \times 11 =$	
$12 \times 11 = $	6 × 11 =	$7 \times 11 =$	$5 \times 11 =$	
$1 \times 11 =$	$2 \times 11 =$	$2 \times 11 =$	12 × 11 =	
$9 \times 11 =$	$7 \times 11 =$	$11 \times 11 = \square$	$7 \times 11 =$	
$10 \times 11 = \boxed{}$	8 × 11 =	$1 \times 11 =$	$10 \times 11 = \square$	
$4 \times 11 = $	4 × 11 =	$0 \times 11 =$	8 × 11 =	
$7 \times 11 =$	11 × 11 =	6 × 11 =	4 × 11 =	

## Multiplying by 11 (J) Answers

Name:	Date:	Score:

#### Calculate each product.

$$3 \times 11 = 33 \quad 11 \times 11 = 121 \quad 10 \times 11 = 110 \quad 8 \times 11 = 88$$

$$11 \times 11 = 121 \quad 11 \times 11 = 121 \quad 3 \times 11 = 33 \quad 10 \times 11 = 110$$

$$8 \times 11 = 88 \quad 4 \times 11 = 44 \quad 0 \times 11 = 0 \quad 9 \times 11 = 99$$

$$6 \times 11 = 66 \quad 12 \times 11 = 132 \quad 3 \times 11 = 33 \quad 12 \times 11 = 132$$

$$12 \times 11 = 132 \quad 7 \times 11 = 77 \quad 1 \times 11 = 11 \quad 1 \times 11 = 11$$

$$9 \times 11 = 99 \quad 5 \times 11 = 55 \quad 7 \times 11 = 77 \quad 6 \times 11 = 66$$

$$10 \times 11 = 110 \quad 3 \times 11 = 33 \quad 10 \times 11 = 110 \quad 7 \times 11 = 77$$

$$2 \times 11 = 122 \quad 2 \times 11 = 11 \quad 11 \times 11 = 110 \quad 7 \times 11 = 77$$

$$2 \times 11 = 22 \quad 2 \times 11 = 11 \quad 11 \times 11 = 121 \quad 0 \times 11 = 10$$

$$0 \times 11 = 0 \quad 9 \times 11 = 99 \quad 2 \times 11 = 121 \quad 0 \times 11 = 10$$

$$0 \times 11 = 0 \quad 9 \times 11 = 99 \quad 2 \times 11 = 121 \quad 0 \times 11 = 10$$

$$0 \times 11 = 0 \quad 9 \times 11 = 0 \quad 5 \times 11 = 55 \quad 2 \times 11 = 121$$

$$1 \times 11 = 11 \quad 10 \times 11 = 110 \quad 8 \times 11 = 88 \quad 10 \times 11 = 110$$

$$5 \times 11 = 55 \quad 6 \times 11 = 66 \quad 9 \times 11 = 99 \quad 11 \times 11 = 121$$

$$1 \times 11 = 11 \quad 10 \times 11 = 110 \quad 8 \times 11 = 88 \quad 10 \times 11 = 110$$

$$5 \times 11 = 55 \quad 8 \times 11 = 88 \quad 12 \times 11 = 132 \quad 8 \times 11 = 88$$

$$2 \times 11 = 22 \quad 12 \times 11 = 132 \quad 6 \times 11 = 66 \quad 3 \times 11 = 33$$

$$0 \times 11 = 0 \quad 1 \times 11 = 11 \quad 12 \times 11 = 132 \quad 4 \times 11 = 44$$

$$6 \times 11 = 66 \quad 5 \times 11 = 55 \quad 3 \times 11 = 33 \quad 1 \times 11 = 11$$

$$8 \times 11 = 88 \quad 0 \times 11 = 0 \quad 5 \times 11 = 55 \quad 9 \times 11 = 99$$

$$3 \times 11 = 33 \quad 9 \times 11 = 99 \quad 4 \times 11 = 44 \quad 0 \times 11 = 0$$

$$12 \times 11 = 132 \quad 6 \times 11 = 66 \quad 7 \times 11 = 77 \quad 5 \times 11 = 55$$

$$1 \times 11 = 11 \quad 2 \times 11 = 22 \quad 2 \times 11 = 22 \quad 12 \times 11 = 132$$

$$9 \times 11 = 99 \quad 7 \times 11 = 77 \quad 11 \times 11 = 121 \quad 7 \times 11 = 77$$

$$10 \times 11 = 110 \quad 8 \times 11 = 88 \quad 1 \times 11 = 11 \quad 10 \times 11 = 110$$

 $0 \times 11 =$ 

 $6 \times 11 =$ 

0

66

 $8 \times 11 =$ 

 $4 \times 11 =$ 

88

44

44

121

 $4 \times 11 =$ 

 $11 \times 11 =$ 

 $4 \times 11 =$ 

 $7 \times 11 =$ 

44

77